£¢ COSTWAY®

EN
With your inspiring rating, COSTWAY will be more consistent to offer you EASY
SHOPPING EXPERIENCE, GOOD PRODUCTS and EFFICIENT SERVICE!

DE

Mit Ihrer inspirierenden Bewertung wird COSTWAY konsistenter sein, um Ihnen EIN
SCHONES EINKAUFSERLEBNIS, GUTE PRODUKTE und EFFIZIENTEN SERVICE zu
bieten!

FR
Avec votre évaluation inspirante, COSTWAY continuera a fournir une EXPERIENCE
D’ACHAT PRATIQUE, des PRODUITS DE QUALITE et un SERVICE EFFICACE !

ES
Con su calificacion inspiradora, COSTWAY sera mas consistente para ofrecerle
EXPERIENCIA DE COMPRA FACIL, BUENOS PRODUCTOS y SERVICIO EFICIENTE.

IT

Con la tua valutazione incoraggiante, COSTWAY sara piu coerente per offrirti
ESPERIENZA DI ACQUISTO FACILE, BUONI PRODOTTI e SERVIZIO EFFICIENTE!

PL
Dzieki twojej opinii COSTWAY bedzie mdgt oferowac jeszcze WYGODNIEISZE
ZAKUPY, LEPSZE PRODUKTY i SPRAWNIEISZA OBSLUGE KLIENTA.

US office: Fontana UK office: Ipswich AU office: Truganina
DE office: Hamburg FR office: Saint Vigor d'Ymonville PL office: Gdansk

COSTWAY'

USER’'S MANUAL

Upholstered Platform Bed
with Storage
HU10194

THIS INSTRUCTION BOOKLET CONTAINS IMPORTANT SAFETY INFORMATION. PLEASE READ AND KEEP FOR FUTURE REFERENCE.



Note: Hardware list
1. Should be assembled on flat ground to keep balance.

2. Before completing the installation, do not tighten the screws.

@ 10rCs @ 14pCs @ 13rcCs

! ©

Before starting the assembly, you must read the whole
manual and follow the instructions.

It needs at least two people to install.
M8*15 M8*20 M8*40

- M8*45
Assembly Instruction (D J1e @ orcs -
o L o Part list
0
0
o \
®
o (1 JLe @ irC © 1rC .
4]
¢ ' ,
)

[ 5 Je (6 JLJe @ 2rcs © 2rcs

02 03



COSTWAY

04

Step:1

COSTWAY

For easy installation
Kindly reminding!
assemble as below step:
Assemble 1-1(2PCS) first,
then assemble 1-2

BN

@ 2pcs

M8*40

©

() mm))) )
9
9

S
S

G

PC
PC

N9

05



>
g
3
?
(¢]
v

Step:3

N
Q
Q
e’
7))

Hang it up, tighten

Loosen the screw

07

06



Step:5

Step:4




Step:7

Step:6

Screw on the screw,

don't tighten

{—m
M8*40

@ 2rcs

1

j

11

10



Step:10

Step:9




Step:12

Step:11

to

here

close

nder
) the end of the foot borad

cloth

e's a Velcro u
Place the Velcro face

and Velcro

S/ b A
\ .“1 %\\ .,‘\,
\ //

5

he

/
/ A

77

/

er and stick it straight on.

attach the storage box to t
foot board. Turn the Velcro

Remove the Velcro a

15

14



